7 —¥ER (5) -EHjOBE%
B =V=1 . jP=—1

JEE Im z2 =120 =rel?

52Eh Re
ZIZja Mt % @ jZz = rejgej% = rej(e-%)

RE % Im

6 + Z[rad]
r \ 2

EEH Re

FA7—DRA

e/? = cosf + jsin@
-(_E) T . T ] )
e] 2 :COS<—§)+]SIH(—§)=O+]' —1:—]

P . A 1T . Vs
el \jEHNTD 1 jelf =elfel2 = /0D

e’

7= coso4jsine=0+j1=]
=coso+jsinS =0+4j 1=

elf|- — T B —jelf = 0i06i(-2) = (I0-)

OT\%U%) \l _ —1Xx—-1 . _1Xj2 _
e i -

JE j ;=)

X — —J

ﬂ A

& KA A [rad] D,

J*E =E

X =) —j —jEBNTB E(jTEIB L)

a A [rad BN B,

J°E = —JE 2



Zx—=HFR (6) —-7z—VOHES

= ABRBOER
JRBEE ¢ a(t) = sin(wt + 6) a) D7z —HPZALTHE, A=elb cosf = sin (g _|_g)
[ —cosf = sin (6 —3)

s b - 4 _d . _ _ i i
BEIOMS 1 La(t) = Lsin(wt +6) = wcos(wt +0) = wsin(wt+0+7) BRSO 13

7 =Y DjufFEIIT IS

. 7 —HYHRR . o , , .
dita(t) = w sin (wt +6+ g) = we](GJ%) :weJGeJ%:jweja =jwA -'-%A = jwA
ej% = A=elf
(&%)
" . . 1 1,
[REE#HDES © [a(t)dt = [ sin(wt + 8)dt = —=cos(wt + 6) = —sin (wt +0— g) B DIEL .
7 = =Y D AFITHG
7 =YK 1 (om 1 m1 1 : :
[ a(t)dt = =sin (a)t +6— E) _61(9—7) = _31931(‘§)= —welf=—4 S [Adt=—4
@ 2 w w jw Jjw Jw
— N
ej(_%) = —] = 1 A = 6]9



7 —HYERxr (7)

A —LDEE (7 —HHRR)

I R[IQ]

24 L : LIH] ky_f”v’vﬁvf\_ﬁé

avF v C[F]
R[Q] L[H]
o—{ "YYW

— AV E—R 2D 7 T —HER

V=271 v i BEIV] I BR[A]
t)[V]
W B 5 o
o 1o vO=rR® > V&)
v(t) = Li(—t) > V=L"jol =joLt I

o v(t)=f%i(t)dt 5 o

dt

[ S J

........

........

BEEHGOSHRA vy E—% v X1,

. 1
O Z=R+jwL+——==R+j
jol +=27 J

(

I — —
@ wC

)

= R [Q]
=  joL [Q]
1
= ﬁf[m

A E=KVRD

Hiize<[Q]

THHTETETE ]




